21

mg/100
25 6
+
C
1t/10a

N

15

30

20

(g/cm?

172

0.5t/10a

pH7.0

14




2mm

pH7.0
(mg/1009)
( ) (9/cm’)
1l
I mg/100
ﬁ (g/cm?
| 1t/10a 0.5t/10a
il
( ) X
il
1/2
40
= 22 ¥
________________ g“ I ,. o <!
=) 21
oo
{’EH 14
(mg/100cm?®) (kg/10a) =
________________ ﬁm
i}
inFE  2FB 3F8 458 s%E  afBLIE
1 FiAEIRODEREHCZEREDE
= -2.31 x + 11.27, 4.0
600 510kg/10a
21.5¢ 6.4
S AR RR C BEOCEIREEE B HEAEN O {EZE AN
4keMA DalD 1BS | | |
(RS AR EAPLiR 4.00
DR RER 1Y E
RN 1 0% (IR | ‘ ‘
CHEREN=Np > B2 |4 JERIER 3.30
CHEBHD ot ‘ ‘
OEE S N E =5
WAE1EE HIEN: 0.70ke  |E ERsEE 275
HERASER LM 1.25ke ‘ ‘
EASER HEAEN: 1.40ke
OB ENE= FIEN - N EHsEE 2.60
ER1FEH  3.30ke/10a [ |
EAS 2 76ke/10
ﬁgazg 2.50k:f1n: Qoo 100 200 300 400
MeAEEE =B (kg1 0a)
FHz HACERD MEEEE0 Rk (i)
15 19



